PROPRIETARY NOTICE:
THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC., (ALSO DBA LIGHTWAVE RESEARCH) AND IS GIVEN TO THE RECEIVER IN CONFIDENCE.
THE RECEIVER ACCEPTS AND AGREES THAT, EXCEPT AS AUTHORIZED BY HIGH END SYSTEMS, THE RECEIVER WILL NOT PERMIT THE USE OF THE DOCUMENT OR ANY COPY THEREOF OR THE
INFORMATION THEREIN, WILL NOT COPY OR PERMIT COPYING THE DOCUMENT WILL NOT DISCLOSE TO OTHERS EITHER THE DOCUMENT OR THE INFORMATION THEREIN, AND NILL UPON COMPLETION
OF THE ![[D 10 RETAIN THE 3[Jl)CLll‘Elﬂ, OR_UPON DEMAND, RETURN THE DOCUMENT NWOUTON[TMI\IG ANY_OF THE INFORMATION CONTAINED THEREIN H!' ANY_FORM_WHATSOEVER

i H a0 1) 18 T 13

24 23 22 2 20 19 18 1" 16 15 " 13 12 1 " [} 8 1 5 5 4 3 2 !
KXAQ I REV DESCRIPTION DATE ENG ECO # | APPR
| [CREATE DRAWING 28APR0O6 |M BELL
2 |UPDATE VIEW OF EXPLODED ITEMS 03MAY06 LR

ANCILLARY DRAWING

12 4 SCREW8-32PP313TLBZ 90709065 SCREW, PHIL PAN 8-32 X 5/16 TAPTITE Il SBZ

Il 4 SCREW6-32PPF250B7 90709012 SCREW, PHIL PAN 6-32 X .25 TYPE F BZ

10 2 |SCREW6-19PPB250SZ 90709123 . SCREW, 6-19 PHIL PAN 1/4 S7 PLASTITE

9 | KS166 80070413 - SCREEN, PANEL, HONEYCOMB S-CMD-1200

8 | KSI167 80070414 - SCREEN, FAN, HONEYCOMB, S-CMD-1200

1 4 |RIVETI56X460PUSH_NY 90701336 RIVET, 5/32 PUSH .217-.256 NY BL

6 | KT160 99050055 - PANEL, REAR, FAN, S-CMD

5 2 NUT6 - 32KEP 90703005 - NUT, 6-32 KEPS NUT

) | KS461 99310431 - LABEL, REAR PANEL, $-CMD-1200

3 | KT706 80270032 - FAN, ASSY 24V DC 80MM X 20MM

2 | §Y200 90724008 - BUTTON, LR

| | LINEFILTER_KS_PCBA 80010126 . BOARD, ASSY STUDIO BEAM LINE FILTER

ITEM NO.| QTY. FILENAME PART NO. REV DESCRIPTION
BILL OF MATERIALS
UNLESS OTHERWISE SPECIFIED : 2105 GRACY FARMS LANE
DINENS IONAL TOLERANCES: EEEEASE DATE: gi‘ Hgnd NUSTINCTenns Toiss
O PLACE DECIMAL = £0.38 Iyr - = FAX (512) 832-4128  LIGHTWAVE
| PLACE DECIMAL = +0.25
2 PLACE DECIMALS =£0.13 MFG: DRW: M BELL svevame® hitp://www. highend.com RESEARCHe
ANGLES = £0.5 DESCRIPTION

TOR PAINTED PARTS RETER To| PANEL ASSY, FAN SIDE S-CMD-1200
ENG. SPEC. MANUAL WI-0592

NATERIAL:

ALL COMPONENTS, MATERIALS AND
FINISHES TO BE RoHS COMPLIANT

WIN. DRAFT

CHARTED

FINISH:
NA

INTERPRET DIMENSIONS PER SI

WIN._RADIT

ASME Y14.5M-1994

FLATNESS

THIRD ANGLE PROJECTION

THICKNESS

PART NO.

METRIC NA

DRANING NO.

KXAOQ |

REV

VOLUNE
—

DIMENSIONS ARE IN MILLIMETERS A1
g

DO NOT SCALE
5

[SCALE: 0.750 [SHEET: 1 OF I
[

7 [ T




